2. Mrs. Peterson made 32 car payments at $533 each. She still owes $8,530 on her car. How much did the

car cost?
;E My tape diagram shows two parts: 32
payments at $533 and the $8,530 she still
32 x $533 $8,530 owes. All| have to dois find both parts
and then add!
33 17,05 6
x 3 Z + 8 530
1 0 66 Z 5 5 8 6
+ 1 5 9 9 g
1 7,84 5 &

-

Mrs. Peterson’s cor cost $25,586.

16 Lasson 9: Fluently multiply multi-digit whole numbers using the standard algorithr EUMKA

to solve multi-step word problems. M ATH"
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